COMPARE SIZE, WEIGHT AND CAPACITY
KS1 —-2001 Paper
1.

9

KS1 —-2002 Papers
2.

32 28 (cm) 1
KS1 —-2005 Paper 2

3.

has does not have
brown eyes brown eyes

is shorter
than 120cm

is 120cm tall Kiz

is taller
than 120em Jane

KS1 - 2009 Paper 1

4.
25a pencll 1 Accept 15, with or without cm.

25b 18 (cm) 1

KS1 - 2016 Paper - Reasoning

5.



28 | Both signs written correctly as shown: im Accept any unambiguous drawing of the
cormrect symbaol.

foinatm mewe ( A means Do not accept words instead of signs, e.g.

do not accept ‘less than’ in place of the
‘< sign.

Tiger's mass Lion's mass

Commentary for question 28: Pupils are expected to be able to use inequality signs to compare
measures (2M1).

KS1 - 2016 Paper — Reasoning (Second)

6.

6 Letters written in the comect order as shown: im All letters must be in the correct order
for the award of the mark.

B D c A

Accept any other clear way of indicating
Least full mast full the correct answer e.g. matching each
alass to the correct box.

Accept the letters given in the reverse
order, provided the labels have been
swapped.

KS1 - 2018 Paper — Reasoning

7.

6 Letters put in the correct order as shown: im All letters must be in the correct order for
the award of the mark.

C D A B Accept any other clear way of indicating
the correct answer, e.g. matching each

tallest shartest building to its comact position.




